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Math 151-01, Calculus I — Cra@// 12 October 2017

Score
1 /10
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e Calculators, books, notes (in any form), cell phones, and any unautho- 3 /12
rized sources are not allowed.
e You may use the attached unit circle. 4 /24
o Clearly indicate your answers.
5 /16
e Show all your work — partial credit may be given for written work.
e Good luck! 6 /12
7 /16
Total /100
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1. (10 pts). If sin@ = = and g < 6 <, use a right triangle to determine tan 6.
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2. (12 pts). Find all solutions to the following equation. V%w—'w e IS '
cos(3x):%
T =1 \ AT
&X = JéiZWﬂ 5/ AX = 3"‘2’/1/;
23 R o~ X7
/ L O ‘\7};’ M TC ilg‘,fw!/'
3_ 9.2
3. (12 pts). Find an equation of the tangent line to y = 2;1:—_3238_ at x = 1.
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4. (24 pts). Differentiate the following [Do not simplify!]

(a). y=4z® — 3z — =2

Wx‘* ~2

(c). f(z) = sin(cos(az?)) for a constant a. U]’
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5. (16 pts). Given the curve y +5 = zy>, use implicit differentiation to

(a). Find y/'. /—’7\
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b). Find y” in terms of = and y only. You do not need to simplify.
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6. (12 pts). Given f(z) = % - X—\

(a). Find the linearization L(x) at = 10.

\
Dor Pwe d o (14)

y \
{UD\) = "-'"’" - - de M
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LYY = 716 1 O0 X-10 W

. 1
(b). Use the linearization from part (a) to approximate 01 i.e. Use L(x) to approximate f(10.1).

[You do not need to simplify the approximation in part (b).... Seriously, don’t simplify it.]

L 1 _‘,>
- D 100\ /0
\ A
I 100
- oo k.
1000 1000
. 99
RN oo . &y



Exam 2-B, Name:

Page 6

7. (16 pts). The height at time ¢ (in seconds) of an object shot upward is given by s(t) = —16t> + 64t + 8 in feet.

(a). Find the velocity and acceleration at time t.

MME

‘E(m = =221 +bY | :HST

WLl = - 52 s*

(b). When is the object at rest?

oy 7
i When  does UOE)=0 !

-22¢ tb4d =0
bd = 22¢

L-2 s

(c). Is the object speeding up or slowing down when ¢ = 17 [Justify your answer.]
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